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PO FL T RC-40 0.55 X( 0.330 + 0.200 ) X 2.1 m® 0.6
DL T it
D FL T b ( 055 X 0514 — 0.114 2 X x,/4)X 2.1 m® 0.6
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FEo AL As 0.55 X 0.05 X 0.3 m’ 0.01
PSS T As m’ 0.01
15 URE - ALy T 0.023 X 0.05 X 0.6 m’| 0.001
B T M-30, t=22cm 0.55 X 0.3 m? 0.2
A RIEAS(13)
IR T t=5cm 0.55 X 0.3 m? 0.2
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2 TIX T+ T & &

+Ta47° 1-5 HSEHE As (LAZIH) STK 200A DP=0.85m
+TiEE L= 46 +3.5 = 8.1 m
y W
BEE%As t=bcm EHl | BR RIEIR BAEFEAIAs t=5cm
I — >
3 AN v 3
TBET
e S
!
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — e D1 | %&4M%] 0.216
= Y s ! < pP1 | 140 | 0.850
D2 [#E4ME[ 0.114
. DP2 | L#kv [ 1.200
S t H1 [#REIZE] 1.314
— | — H2 [HRAE] 1.264
3, < h1 [#ss] 0.280
S h2 | #EERS| 0.148
I~ = h | # & 0.616
a o~
A, =
o
a
BEERE o D2 FEkE o D1
( 8.1 m Y7=v¥E)
4 g iR N M g B = B & &
SR T As, t=15cmBLF 2.00 X 8.1 m 16.2
SRR R T As, t=10ecmPL T 0.55 X 8.1 m? 4.5
e 1| Kbk RVE L ( 055 X 1.264 — 0.114 2 X x/4 )X 8.1 m® 5.5
PO FL T RC-40 0.55 X( 0.280 + 0.148 ) X 8.1 m® 1.9
DL T it
D FL T b ( 055 X 0616 — 0.216 2 X x,/4)X 8.1 m® 2.4
PR A Wi R
B sy W+ 550 — + 0.9 m’ 5.5
FEo AL As 0.55 X 0.05 X 8.1 m’ 0.2
PSS T As m’ 0.2
15 URE - ALy T 0.023 X 0.05 X 16.2 m’ 0.02
B A% T M-30, t=22cm 0.55 X 8.1 m? 4.5
A RIEAS(13)
IR T t=5cm 0.55 X 8.1 m? 4.5
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2 TIX T+ T & &
+Ta47° 1-6 HSEHE As (LAZIH) STK 200A DP=1.15m
+ THER L= 3.2 = 3.2 m
y W
BEE%As t=bcm EHl | BR RIEIR BAEFEAIAs t=5cm
- —
3 AN v 3
: BREET
| M-30 S
|
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — a DI [#4ME[ 0.216
=z g = ! < DP1 | I:#v [ 1.150
g%ﬂ,ﬁ?\ D2 |4 0.114
=—r \ pP2 [ b#kn | 1.200
i ST H1 | fRHIZE| 1466
m| ———f |—— H2  [HmilE] 1.416
0 3] hl  [#E54] 0.580
1 b < h2 | #EEES| 0.000
N 0 s h | & 0.616
2 : Y
BEERE 6 D2/ FEkE o D1
( 3.2 m Y7-0¥E)
4 g iR N M g = B & &
AhEEDIN 1T As, t=15emEL T 2.00 X 3.2 m 6.4
SRR R T As, t=10cmPA T 0.55 X 3.2 m? 1.8
# Hl T Bk WEEt | 055 X 1416 — 0.114 2 X gm/4 )X 3.2 m’ 2.5
PO BT RC-40 0.55 X 0.580 X 3.2 m® 1.0
DL T it
D FL T b ( 055 X 0616 — 0.216 2 X x,/4)X 3.2 m® 1.0
PR A Wi R
B sy W+ 250 — + 0.9 m’ 2.5
FEo AL As 0.55 X 0.05 X 3.2 m’ 0.1
Ty As m® 0.1
15 URE - ALy T 0.023 X 0.05 X 6.4 m’ 0.01
B A% T M-30, t=22cm 0.55 X 3.2 m? 1.8
A RIEAS(13)
IR T t=5cm 0.55 X 3.2 m? 1.8
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2 TIX T+ T & &
+Ta47° 2-2 HSEHE As (AASH) SUS 100A DP=0.90m
T TR L= 1.8 = 1.8
’ W
BEE%As t=bcm EHl | BR REIH BEFHiAs t=bcm
- —
3 AN v 3
HET o
| M-30 =
|
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — e D1 | %&4M%] 0.114
=z g = ! < DP1 | I:#%v [ 0.900
g%ﬂ,ﬁ?\ D2 |4 0.114
=—r \ pP2 [ b#kn | 1.200
! S t H1 [#REIZE] 1.314
wm| — |— H2 [EEle] 1.264
0 8, < hl  [#E54] 0.280
1 S h2 | #EERS| 0.200
N 0 =Y h [ wl 0514
3 <
o |
a
BEERE o D2 FEkE o D1
( 1.8 m Y7=v¥E)
4 e iR N M B = B & &
AhEEDIN 1T As, t=15emPL T 2.00 X 1.8 m 3.6
SRR R T As, t=10cmPA T 055 X 1.8 m? 1.0
# Hl T Bk WEEt | 055 X 1.264 — 0.114 2 X gm/4 )X 1.8 m’ 1.2
PO FL T RC-40 0.55 X( 0.280 -+ 0.200 ) X 1.8 m® 0.5
DL T it
D FL T b ( 055 X 0514 — 0.114 2 X x,/4)X 1.8 m® 0.5
PR A Wi R
7Sy e+ .20 — +~ 0.9 m’ 1.2
FEo AL As 0.55 X 0.05 X 1.8 m’ 0.05
PSS T As m’ 0.05
15 URE - ALy T 0.023 X 0.05 X 3.6 m’|  0.004
%A T M-30, t=27cm 0.55 X 1.8 m? 1.0
A RIEAS(13)
IR T t=5cm 0.55 X 1.8 m? 1.0
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2 TIX T+ T & &
+Ta47° 2-3 HSEHE As (LAZIH) STK 200A DP=0.85m
T TIEE L= 6.0 = 6.0 m
’ W
BEE%As t=bcm EHl | BR REIH BEFHiAs t=bcm
I — >
3 AN v 3
HET o
i M-30 N
!
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — a D1 | %&4M%] 0.216
= Y s ! < pP1 | 140 | 0.850
D2 [#E4ME[ 0.114
. DP2 | L#kv [ 1.200
S t H1 [#REIZE] 1.314
— | — H2 [HRAE] 1.264
3| < hi [#EEH] 0.230
S h2 | #EERS| 0.148
o~ =3 h | W | 0.616
[=) o
A, =
o
a
BEERE o D2 FEkE o D1
( 6.0 m Y7=0¥E)
4 e iR N M g = B & &
i o) As, t=15cmbL F 200 X 6.0 m 12.0
SRR R T As, t=10ecmPL T 0.55 X 6.0 m? 3.3
e 1| Kbk RVE L ( 055 X 1.264 — 0.114 2 X x/4 )X 6.0 m® 4.1
PO FL T RC-40 0.55 X( 0.230 -+ 0.148 ) X 6.0 m® 1.2
DL T it
D FL T b ( 055 X 0.616 — 0.216 2 X x,/4)X 6.0 m® 1.8
PR A Wi R
B sy W+ 410 — +~ 0.9 m’ 4.1
FEo AL As 0.55 X 0.05 X 6.0 m’ 0.2
PSS T As m’ 0.2
15 URE - ALy T 0.023 X 0.05 X 12.0 m’ 0.01
B T M-30, t=27cm 0.55 X 6.0 m? 3.3
A RIEAS(13)
IR T t=5cm 0.55 X 6.0 m? 3.3
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3T.X. HPE ¢ 100 &#(A%)

W X K U85

EI Birk R w
[#41]
W B
EFS2 1A EH ¢ 100 0 + 2 2 P
¢ 100
EFJT 52~ R 45° 1 1 I
¢ 100
EF5~_ R 45° 1 1 1
EFf3ZS~UR | ¢ 100X H300 1 1 1
PVVaA ik ¢ 100 1 1 ]
PCYaA b ¢ 100 1 1 1
¢ 100
WHIRT—7 | TLAUMEL | 11.56 1.6  m
~——HL 4 4 1
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3T.X HPE ¢ 100 95%5(AK%)

W X K O 5K

% fSikig Mo B | Wz
[77%]
[aR=IEd
RY=F LB AR T ¢ 100 11.56 - 11.6 m
RY=F L ZY T ¢ 100 4 4 8]
[EX=4 iy HZARUR ZAUR mESSUF Vrvh
BlE AT T ¢ 100 + 2 + 1 + 2 + 2 + 7 &
PVY'afvh  PCY'afvh
AR =JVHETF T ¢ 100 2+ 2 4 8]
B —R T 11.6 11.6 m
PREE T ¢ 100 11.60 11.6 m
11.6/6+1
BERS Hk s B r 1 ¢ 100 3 3 H
AR g BETIAF R 0.42 0.4 ke
AIT T $Ar7v7 | 215.99 216.0 | kg
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ST fMEBEMAE (KR &4

4 W itk W I B S A

b3
i

HHAL

) (B 5HEE)
RY=FLo AT » 100 0.10 X 4.20

0.42 kg

BETSIAF v IHE 0.42 ke

i) (ZEHER)
D1

B RN ¢ 100 11.60 X 18.62 215.99 | ke

$ArTv7 21599 | ke
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3 TIX T+ T & &
+T 47" 2-1 BIEHIE As (A%Z@) HPE ¢ 100 DP=0.90m
T TIEE L= 5.8 = 5.8 m
y W
BEE%As t=bcm EHl | BR REIH BEFHiAs t=bcm
I — >
3 AN v 3
TBET
| W30 S
|
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — a D1 | %&4M%] 0.125
= Y s ! < pP1 | +:#k0 | 0.900
D2 [#E4ME[ 0.118
. DP2 | L#kv [ 1.200
S t H1 [#RHEIZE] 1.318
—_— | — He [#mEls] 1.268
3| < hi [#E 5] 0.280
S h2  [HEERF] 0.193
o~ =3 h | W | 0525
[=) o
A, =
o
a
BEERE o D2 FEkE o D1
( 5.8 m Y7=0¥E)
4 g iR N M g = B & &
AT T As, t=15emEL 2.00 X 5.8 m 11.6
SRR R T As, t=10ecmPL T 0.55 X 5.8 m? 3.2
e 1| Kbk RVE L ( 055 X 1.268 — 0.118 2 X x/4 )X 5.8 m® 4.0
PO FL T RC-40 0.55 X( 0.280 -+ 0.193 ) X 5.8 m® 1.5
DL T it
D FL T b ( 055 X 0525 — 0.125 2 X x,/4)X 5.8 m® 1.6
PR A Wi R
B sy e+ 4.00 — +~ 0.9 m’ 4.0
FEo AL As 0.55 X 0.05 X 5.8 m’ 0.2
PSS T As m’ 0.2
15 URE - ALy T 0.023 X 0.05 X 11.6 m’ 0.01
B T M-30, t=27cm 0.55 X 5.8 m? 3.2
A RIEAS(13)
IR T t=5cm 0.55 X 5.8 m? 3.2

35




3 TIX T+ T & &
+Ta47° 3-1 BOEAE As HPE ¢ 100 DP=0.90m
+ THER L= 4.0 = 4.0 m
’ W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
E—— >
S AN v S
i BRAET
| RC-40 8
!
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — a DI [#&4M%[ 0.125
= £ = ! < DPL | +4#0 | 0.900
g%ﬂ,ﬁ?\ D2 |4 0.118
=—r \ pP2 [ b#kn | 1.200
} sl 1 H1 [ FIE) 1.318
—_— | — He [mEls] 1.288
3| < hi [#EEH] 0.470
S h2  [HEERF] 0.193
~ = h | # & 0525
a o~
A, =
o
a
BEERE o D2 FEkE o D1
( 4.0 m M7E0EE)
4 e iR N M g = B & &
AhEEDIN 1T As, t=15emEL T 2.00 X 4.0 m 8.0
SRR R T As, t=10cmPA T 0.55 X 4.0 m? 2.2
# Hl T Bk Wt | 055 X 1.288 — 0.118 2 X /4 )X 4.0 m’ 2.8
HH LT RC-40 0.55 X( 0.470 -+ 0.193 ) X 4.0 m’ 1.5
DL T it
D FL T b ( 055 X 0525 — 0.125 2 X 7,/ 4)X 4.0 m® 1.1
PR A Wi R
B sy e+ 2.80 — +~ 0.9 m’ 2.8
FEo AL As 0.55 X 0.03 X 4.0 m’ 0.1
Ty As m® 0.1
15 URE - ALy T 0.023 X 0.03 X 8.0 m’ 0.01
B T RC-40, t=10cm 0.55 X 4.0 m? 2.2
A RIEAS(13)
IR T t=3cm 0.55 X 4.0 m? 2.2
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3 TIX T+ T & &

+Ta47° 3-2 BEIEHGE As HPE ¢ 100 DP=1.20m
+ THER L= 1.7 = 1.7 m
y W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
E— >
S AN v S
i BRAET
| RC-40 8
!
i
BWiEL BERM T W | #EIfE[  0.550
N i RC-40 — e D1 | %&4M%] 0.125
=z g = ! < DP1 | I:#v [ 1.200
g%ﬂ,ﬁ?\ D2 |4 0.118
=—r \ pP2 [ b#kn | 1.200
i ST H1 | fRHIZE] 1425
m| ———f |—— H2  [HmilE] 1.395
0 3, h1 s 0.770
_ b = h [ @] 0525
L Q]
2 : Y
BEERE 6 D2/ FEkE o D1
( 1.7 m Y47=0¥E)
4 g iR N M g B = B & &
AhEEDIN 1T As, t=15emEL T 2.00 X 1.7 m 3.4
SRR R T As, t=10cmPA T 055 X 1.7 m? 0.9
#woHl T Kbk e+ ( 055 X 1.395 — 0.118 2 X x/4 )X 1.7 m® 1.3
PO BT RC-40 0.55 X 0770 X 1.7 m® 0.7
DL T it
D FL T b ( 055 X 0525 — 0.125 2 X g,/ 4)X 1.7 m® 0.5
PR A Wi R
B sy W+ .30 — + 0.9 m’ 1.3
FEo AL As 0.55 X 0.03 X 1.7 m’ 0.03
PSS T As m’ 0.03
15 URE - ALy T 0.023 X 0.03 X 3.4 m’|  0.002
B A% T RC-40, t=10cm 0.55 X 1.7 m? 0.9
A RIEAS(13)
FAEIRT t=3cm 0.55 X 1.7 m? 0.9
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HPE ¢ 100 #%5 BEURER)

W X K O 5K

ERD fSikig Mo B | Wz
[#44]
EFvy v~ ¢ 100 2 2 18
[7%]
Fyvs
R AT ¢ 100 2 2 f& T
RV F LB ET ¢ 100 19.20 + 5.30 + 89.40 1139  m
19.2/6+1 5.3/6+1 89.4/6+1
e A =5 L4 B T ¢ 100 5 + 2 + 16 23 5]
Wy WerIAF v o% 478.38 478.4 | ke
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WEEMHE () 25

4

Biks

W X K U85

g

) (BERE)
RVZ=F LA ¢ 100 113.90 X 4.20 478.38 | ke
BT IAF v /4| 478.38 | ke
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1 TX T+ T & &
+Ta477 | ER1-1 FEEE As (L32iH) HPE ¢ 100 DP=0.60m
+TiEE = 09 +9.8+ 3.7+ 4.5 = 18.9 m
(B
y W
BEE%As t=bcm EHl | BR REIH BEFHiAs t=bcm
I — —
3 N v 3
1 =30 S
!
i
i W | #EIfE[  0.550
a [ DI [#&4M%[ 0.125
= 2 ° IR 1ERM _ DP | 140 | 0.600
2 RC-40 < H1 [#miE] 0.725
i H2 | A& 0.675
! hl [H#EFf] 0.455
i h W
|
i
C -
| =
1
RERE oD
( 18.9 m ¥%7-v¥E:)
4 g iR N M g = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10ecmPL T 0.55 X 18.9 m? 10.4
e 1| Kbk RVE L ( 055 X 0675 — 0.125 2 X 7x,/4)X 18.9 m® 6.8
PO BT RC-40 0.55 X 0.455 X 18.9 m® 4.7
DL T it
DL T Y
PR A Wi R
B sy W+ 6.80 — +~ 0.9 m’ 6.8
FEo AL As 0.55 X 0.05 X 18.9 m’ 0.5
PSS T As m’ 0.5
VHJETE - Ly T
B T M-30, t=22cm 0.55 X 18.9 m? 10.4
A RIEAS(13)
IR T t=5cm 0.55 X 18.9 m? 10.4
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1 T T+ T & &

+TH47° | IER3-1 BaEHE As HPE ¢ 100 DP=0.60m
T TIEE L= 85 +1.6 = 10.1 m
(B
y W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
E— —
S N v S
i | pREET
| RC-40 8
|
i A
i W | #EIfE[  0.550
a [ DI [#&4M%[ 0.125
= 2 ° IR 1ERM _ DP | 140 | 0.600
2 RC-40 < H1 [#miE] 0.725
i H2 | A& 0.695
; hl [H#EFf] 0.595
i h W
|
i
| A
i =
i
RERE oD
( 10.1 m %7-v¥E:)
4 g iR N M H B = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10ecmPL T 0.55 X 10.1 m? 5.6
e 1| Kbk RVE L ( 055 X 0.695 — 0.125 2 X 7,74 )X 10.1 m® 3.7
PO BT RC-40 0.55 X 0595 X 10.1 m® 3.3
DL T it
DL T Y
PR A Wi R
B sy W+ 370 — + 0.9 m’ 3.7
FEo AL As 0.55 X 0.03 X 10.1 m’ 0.2
PSS T As m’ 0.2
VHJETE - Ly T
B A% T RC-40, t=10cm 0.55 X 10.1 m? 5.6
A RIEAS(13)
IR T t=3cm 0.55 X 10.1 m? 5.6
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3 TIX T+ T & &
+TH47° | IER2-1 BIEHIE As (A%Z@) HPE ¢ 100 DP=0.60m
T TIEE L= 11.0 = 11.0 m
(B
y W
BEE%As t=bcm EHl | BR RIEIR BAEFEAIAs t=5cm
- —>
3 N v 3
i | pREET
e S
!
i
i W | #EIfE[  0.550
a i DI [#&4M%[ 0.125
= 2 ° IR 1ERM _ DP | 140 | 0.600
2 RC-40 < H1 [#miE] 0.725
i H2 | A& 0.675
! hl | H#EERf| 0.405
i h W
|
i
| A
i =
i
RERE oD
( 11.0 m %7-v¥E:)
4 g iR N M H = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10ecmPL T 0.55 X 11.0 m? 6.1
#woHl T Kbk e+ ( 055 X 0675 — 0.125 2 X 7,/74)%X 11.0 m® 3.9
PO BT RC-40 0.55 X 0.405 X 11.0 m® 2.5
DL T it
DL T Y
PR A Wi R
B sy W+ 3.90 — + 0.9 m’ 3.9
FEo AL As 0.55 X 0.05 X 11.0 m’ 0.3
PSS T As m’ 0.3
VHJETE - Ly T
B A% T M-30, t=27cm 0.55 X 11.0 m? 6.1
A RIEAS(13)
IR T t=5cm 0.55 X 11.0 m? 6.1
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3 TIX T+ T & &
+TH47° | IER3-1 BaEHE As HPE ¢ 100 DP=0.60m
T TR L= 14.2 = 14.2 m
(B
y W
BEE%As t=3cm EHl | BR RIEIR BAEFEAAs t=3cm
- —
S N v S
i | pREET
| RC-40 8
!
i
i W | #EIfE[  0.550
a [ DI [#&4M%[ 0.125
= 2 ° IR 1ERM _ DP | 140 | 0.600
2 RC-40 < H1 [#miE] 0.725
i H2 | A& 0.695
; hl [H#EFf] 0.595
i h W
|
i
| A
i =
i
RERE oD
( 14.2 m %7-v¥E:)
4 g iR N M g B = B & &
Sl T As, t=15ecmPA T
SRR R T As, t=10ecmPL T 0.55 X 14.2 m? 7.8
e 1| Kbk RVE L ( 055 X 0.695 — 0.125 2 X 7,/4)X 14.2 m® 5.3
PO BT RC-40 0.55 X 0.595 X 14.2 m® 4.6
DL T it
DL T Y
PR A Wi R
B sy W+ 530 — + 0.9 m’ 5.3
FEo AL As 0.55 X 0.03 X 14.2 m* 0.2
PSS T As m’ 0.2
VHJETE - Ly T
B A% T RC-40, t=10cm 0.55 X 14.2 m? 7.8
A RIEAS(13)
IR T t=3cm 0.55 X 14.2 m? 7.8
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